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u(z,t) =1+ 5 (em+\/§t eV _ 2) +t

for x — /2t > 0 and

u(w,t) =1+ %(e”ﬁt — eﬂt*m> + \%

for z — /2t < 0. Therefore, u(1,v/2) =1+ (e —€)/2 + 1/V/2.

2.
u(w,y) = Zak(eAk(mfl) — e M) cos Ay,
k=0
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3. Apply the maximum principle to the function

u(z,t) + (x —4)z /2

* V2 _ e 1
u(z) = 4/2(e2V2 ¢ e—2V2) 4"
5.
(@) = h(z) = 8(x+m) + (€72 = 1)0' (x — 7/2) + ™/%6(x — 7/2),
where h(z) = 0 for z < —m, h(zx) = —sinz for —7 < z < 7/2 and

h(z) = e* for x > w/2.

6. If uo and u; are two solutions to the problem then use the first Green
identity for the difference u = us — uy.



